7 Ko HEdaEiEc HEaiE
i

Ot KE - N1#
RS T K b R 2N U 4 o R0 14 | m R
5052 4 HE TSR AR IE M B se° JE T B HRAR 1 T
mEIUHS ROHEFUEKOR NNNN N K P
AR BN ONIR N H RN SRR Q 4L QEIRE AR O
SV LD R4 | ENmIEE EmERYERS R 2K
O T IR P IR SRR D 42°

12T Q S HK K 2 T g HIR -+ 1< +1
=D TEBRNEEN N KHERKEE m BWE S &« R
o mREE | FHREEHERR] QY L&
Bk EISFEIRE | +HPERR] R’
@RAFECm ETEAKR R NEREE S K~e) Ui
Lh 0.5 4L°

P AR K m U R RIER Q S HrE#l Mk
W2 Uit g MEOR A ) (REHHER) MNEEHE
Ei] (REHRED NECEORHN] EEIH11EP)
KW MEdoEmi) (BOHIEKmE) v e
SR Q00 W QRS 1O MEMHEKEEK] © 3] ¥
FEMIER QImI UM N R fanE < Kk | ENR-VEMNNE
EX7 A CORKE N Qe 1 KN ] e wml (=
B M 0N e { K m ke S m ~ SR RO B
NI 1 ¢ D HER S ] 500 sV TR | MR
IR« SR NEREE | RO TR I GHREN /] L O 5
VioR+ | ¢ =ML QL oflg R 500°

w640 MEHIKEIEE] M 4QreuXuhEbie (R 4
BYE) © Mo M [HETHe 2R min K m ok 1 &
S RO | ~OHER R V4000 s PR MR S
M HR | o (REHKEKmE) & ORI (RE11+
HH11mE) NIeEE DT BT IR 5 O e M 4 ©
LA WMPRROMEEHMN SOV REHMKKP &
WRLQRLIY QO SV KR QIEL Ky MEHKEE
H) QK REER L

(69)

0
O
N



KOk HEHER R Hie (BE+HDEKTF) QK
WO (KARY =) M [N e W S 2 O
RIS VIR | VRS bR N W IR BRI
RONE'RBVREIT QX & 5° iR |+-Ri> (RE
FRE+TF) QKWREE LR+ VY ®E+KERm
H+Km) P 2B~ o] © B e Im s j R % =
AR AR - IE T RHEHT Q QTR 0.5250°

KA oo (REHLE | mE) MRk g LK
KBEROQ [OFEERNIE | [RERPR” weiD
HA/EIN S H+HP~HH1 —dIN LL By
50° NG MNEHKEFY] O |7 HdvlE - HE - ~
BREKVEQ 200 KR Hoe (REHREEmE) Wi
RPK” EIARPEE RO [OBRE -k N~ BE i A«
N7 AR TREBHNIET N~ K+ =D Y QU aRE O W
550° NG MEHKEER] ORI EE -~ K
VEQR° KSR dde (R EHImE) MKR
IR REPER A O TORBHE~fi~fmiz| MO 5
WL QLMK HE~1 [+ =ML QL BB O 4R
0° M MEHKEITK] QIR T~ Hi 28"

REIDHE Q EHYEEK - QTR OELQR10° 44040
EEMNRAMELERLEHE E+RE Bl [+HV§&
Q0RO LM e

44487 Kol WY 48 5 W IR E M R A~ eI 2 R
+hed (BE+HVENmI [ +Rm) M0 « -3 | W) (o
EXMEQETIL | VESWERONQRERY” Kilizik+
[ go (REFVERmE) Q4 | ~+=<K( — MRSV
51Q°

6 2K IR Y R QIR e o R X b
BRE A O R BRI R [+ < m QERIAKEHY
SR BRI © 2RI MIRT HER o +-REk =
s ub M AT T 4K R Y RSB [P m | m KR
REME o) [ CHETHER UKy O 2° SoHEOX
TR NWERVLIMESLI R O LVQRE & OH
HERKOHER MR P RN AL v o IHER v mK
Kt Qb= P40

(m KPS =k 5R)

266

(70)





